Тема: “Решение уравнений»
Вариант 1
1. Реши уравнения:

х+17=23
у:6=8

31-а=8
9.в=72

2*.Используя свойство равенства, найди корень уравнения:

х +54=6+54

Тема: “Решение уравнений»
Вариант 2

1. Реши уравнения:

у-12=39
х.9=54

45+m=61
24:в=4

2*.Используя свойство равенства, найди корень уравнения:

у .2=8.2

Тема: “Решение уравнений»
Вариант 3

1. Реши уравнения:

а + 24=102
в : 8=8

183 - х=96
7 . у=42

2*.Используя свойство равенства, найди корень уравнения:

(у  : 2) . 4=16
Тема: “Решение уравнений»
1. Вариант 4

2. Реши уравнения:

n - 48=157
m . 6=36
61 + а=284
81 : в =9
2*.Используя свойство равенства, найди корень уравнения:

(х+5) .4=16
Тема: “Решение уравнений»
Вариант 5

1. Реши уравнения:

х +589=804
у : 7=7 
932 - n=467
9 : m =63
2*. Подбери корни уравнения:

х . (3 - х) = 0

Тема: “Решение уравнений»
Вариант 6

1. Реши уравнения:

а- 462=209
в . 4 = 32
385+ х =964
45 : у =5
2*. Подбери корни уравнения:

(4 - х) . х = 0

